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Q2. Solve the initial-value problem 
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Q8. Find a particula.r solution for 
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Q,1. lise th", substitution :r = to transform Lhe equat,ion 

2" 1 
x 11 + 4'U Inx 

to it differential equation with constant eoefficl<;nt.s, and then solve it, 

\}e hO-"e. \~\; ~ ~ L :tL Cl.MJ d2.y_ ~ L \ ~~t _~1 . 
d X 'X dr dX~ x"- Lc\ tit.. c\ t J 

S~ \""- A\ \\~\\J. ~(),h(§M. be.C~EO'" ~ 
(*) ~:.{, _ ~ -\0 L Y'" t 'Its C~",~o",c\i"G ru.Lxi\iavd-

At A~ ~ ~ 
~Q\i~ \'?, __ 'M~_m+\=O SJl. (V))--h-) :~{ 

\N.. ~\"-~\~ S~h~M . 'Ie. -: ~,+ Co\. 1:) e. 
r-.kw 'W~ \n~. <L ~ic,.J.oJ\. ~\,~ 'If' ~~ tk ~"'. 

'h ~ A-+B~
\N~ Su.\-"o\;\ \,\e Y? il'\\~ (*\ ~~. ~i"\c\ ~ ().M~\ \3: 


_ ~ + L ~ -\- Lbt -=- r 

\..1 4 

T~ f\~\~ '{Nv\.c\ ~=-Y 
"-'wvt~~, \k r.J S~~~ ~f' I~ wr~ ~",h~ is. 

'/-== Yc. -+ Yr -;. (,C, -+ c.ot. ~ e V" -\- \b-t Itb 

_ C.~X C ~ \V\ X -t \~ + '" \nA 
_, ,,1\ +" ;.. 
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Q:'. Which of t'11f> f(J'll- ,,' ",' "l" lOllE IS ,mea.dy dependent on (_ex'" +-X'j\')".. owmbo ser,s 0 f" fmct' .'. l' _ .. , "'I v) I" ,,, ­

(a) 	 {b:c, 2 x, 3 cos2 x} . 
"",2 , ,2 •

{ (Ot> 	 X,8m X, tHll 2x} 

(c) { :.r) t.an'2 X, ;.r } 


....... (d) { +- 1)2 - 1)\2, 3'~1
. , ~ t. dJ J 

(e) + ,(1' + 1)2, 2x} 

""It is eo.Sa ~ 'See \\-,.t 
, «.-\- I)l.- _ \ ex _\)t. .. ~IIx",,)~ (:)( -~~ .. ~ (X+' -X-+\)\xtl t )(-~ 

_]...,2x.Z~~X 
- if 

,~ ~(~+I)\ lx-\)~, ':l~~ \~ .Q..:I"Q.OJ\.\(\ c\Q~~deJJ 
c\ e~0oW. \~ &\\~"\. s~\s Me _6: \\. e.a.Jl. ~ il-\ ~ep~Aev ~ 
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QG. Let .H:r) x sin( 2x) +- x 2e -3x cos x. Which of the following differential oper­
at01'8 to; an annihilator of f (x )? 

S(D:' -- 6D +- 10)3(D2 --­

~ (b) 3(D2 + 6D +- lO)!'i(I)2 +- 4)4 

-2(D2 -- 6D +- 1O)3(D +- 4)2 

(d) (D2 +- 6D +- 10)2(D2 +- 4)2 

(e) (1)2 +- 6D +- 1O)4(D2 4)2 

.) lb4 
-I- ~') is OJJ. o...'I\v.i\'\o..\$lt ~\ J.~west ?,~s\b\t ~<\eI1. 9-~ 

'l S\Y\(1X)

.) l\:j~ +bt> -+ 10\'3 \'1> OM (l\\V\\~\\a..t~ (!)~ ~~e _3~ ~~ (9-~ 
\o\J.J e$\ \,0S~i \, \e $'\c\Q..'l. 
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Q7. Given Ghat /}1(:(;) =); is a solution of 

x'~y!l - + 2)y' + (x + 2)j.I = 0, 

a secoltd solut.ion ILnearly independant of Yl could be 

2:1: 

(d) (3x·- 2)eX 

~ 4:r(5 - 2e t 
) 
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QH. A particular solution 

2 It I 
X y' + X!) 

1 -J , X , 1--2':2: 'In ~ + '2 (:r + Inll- ::r) 

(b\ 1 ,I x \' 1 .--f"', ) -- In 1'--;:- + '2 (1 + In 1 :rl) 

1 1 I' 1.nXI+'0(l+ Inl--xl) 
k I 
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q!J. ~Which of the following functions LS a solution t.o 

:\ 11/ ! xy xy + flY = 0 

on (0, 

sin(ln 

(b': --~ 
5 + Ux3 ' cos(ln

" x 

(c) cos(ln x) 19x3 sin(ln:c) 


,9 3 2

(d) ;; + llx (;08(1n:1;) - 6x sin(1n x) 

lr)x~'\cos(ln;:r) -16:r3 sin(lnx) 

T~ C~ '"c~ _ (1.1\ €II. ~"k,,\. \...'" s O.U:)( i \ I""'{! (!'l...."h~'A·. 
o ~ 

t1\ lm ... \) lM _ ~) _ M ., '5 =" L' e.,. 'M - '3 W\ftJ -+ 'N\ 4 S ':. 0 

~ ~ -+\)lm~- t,m + '5):::0 ' 

~1 f~,$ \ $ ClhJ2. W), -= _\) m~,:; '-- +C ()..N\.c\ Wl3 ': ~ -l 

\h C\ L'-"i,', ", \ S~~\,~v \' S ",\I ." 

'I.... S; + Cot X~ ~l\V\x) + S X\;in (In x) ,)( ),," · 
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